11x

14 x

15 x

11x

Missing Numbers (I)

H X Q S E NI R R QD

D Q E V E I O HU C Y

G v J T R Y 6 E O N E

z W O Z U Z W HF 6 R

N Q T WE L V E T E X

E I NH H Z E N WP I

L My Y W QE 6 O s P

P I 6 Yy ¥ VE X S U E

R WF R E E V UOTIC

T B AL S H Z J P B X

P R E O 6 T J NJ R C

W Q J B T Z F A N C X
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= 88 12x_ =12 15x__ = 60
= 42 14x__ =98 11x_ = 22
=135 13x__ =78 13x__ =143
=110 19 x =95 12x_ =144



Solution

+ T+ + S EN®++ R + +
+ H+ E+E I+ + U+ +

+ RV + T+ + G + ON E
+ £E + + + + + + HF + +
N E+TWELVET + +

ENIN+++ + NW + +

+ V+++++E+ 0+ +
+ + I 4+ ++V+ + S + +
+ + + F+E+ + 4+ + I+

+ + + + L+ + + + + + X
+ + +E + + + + + + + +

+ + + + + + + + + + + +



